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May 2022 May 2021 Change Programming Language Ratings Change
1 2 e Python 12.74% +0.86%
2 1 ~ @ G 11.59% -1.80%
3 3 «, Java 10.99% -0.74%
4 4 \ﬁ C++ 8.83% +1.01%
5 5 & C# 6.39% +1.98%
B 6 @ Visual Basic 5.86% +1.85%
7 7 JS JavaScript 212% -0.33%
8 8 @ Assembly language 1.92% -0.51%
2 10 SQL 1.87% +0.16%
10 9 v @ PHP 1.52% -0.34%

https:.//www.tiobe.com/tiobe-index/
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* Python 31V AR

* https://www.youtube.com/watch?v=pwEt50n2K1c
* https://www.python.org/downloads/

« JEE = . Add Python 3.9 to PATHZFIVY

* pipV-IVE—HEICAV AR

* Python version : Python 3.9.4

- B FHRIRE (IDE) PyCharm®D1 VA=)
* https://www.jetbrains.com/pycharm/download/#section=windows
« #ER/\-3YCommunity version
« ;EF= = : Add launchers dir to the PATHZF I
» Python 3.9.4%| Existing interpreter] (Z3E A



https://www.youtube.com/watch?v=pwEt50n2K1c
https://www.python.org/downloads/
https://www.jetbrains.com/pycharm/download/#section=windows

12 A= VHEER

e O F7AY7 bZEEEE. python --versiond~ > FZz AN
LTAZXEL &2,

-—

Microsoft Windows [Version 10.0.22000.675]
(c) Microsoft Corporation. All rights reserved.

C:¥Users¥steve>python —version
Python 3.9.4

C:¥Users¥steve,
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Microsoft Windows [Version 10.0.22000.675]
(c) Microsoft Corporation. All rights reserved.

C:¥Users¥steve>python | , |
Python 3.9.4 (tags/v3.9.4:1f2e308, Apr 6 2021, 13:40:21) [MSC v.1928 64 bit (AMD64)] on win32

Type “help”, “copyright”, “credits” or “license” for more information.
>>> 142

3 . |
>>> print("hello world!")

hel lo world!
DoV
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AV 51 VFEIRIR : Jupyter Notebook

@ FRIER - N HERBE v = TR
& v > PC > Windows (C) > 1-%— > steve > AppData > Roaming > Python > Python39 > Scripts
=2Y:0) EEHHE EE =]
v D499 PR
. .ipynb_checkpoints 2022/06/20 11:12 274 xS -
AT i b
) . _ pycache__ 2022/06/20 10:27 274 J#AIA -
L Avn-k
‘A ipython.exe 2022/06/20 10:28 FIVIr—=23Y

cH REaxvk '

Microsoft Windows [Version 10.0.22000. 675]
(c) Microsoft Corporation. All rights reserved.

C:¥Users¥steve¥AppData¥Roaming¥Python¥Python39¥Scripts>pip install jupyter




AV 31 VRFERIE © Jupyter Notebook

Microsoft Windows [Version 10.0.22000.675]
(c) Microsoft Corporation. All rights reserved.

C:¥Users¥steve¥AppData¥Roaming¥Python¥Python3d9¥Scr ipts> jupyter notebook

JUvw LT
wz&—b

— Jupyter Qi L;///

Files Running Clusters
Select items to perform actions on them. Uploa <

Name ¥ Last Modified File size

Oo ~ W

O & Untitled.ipynb [pa):1] 72B
] Untitled1.ipynb Running #4510 72B
(LS 106 kB

0O 0O ipython.exe
1058 106 kB

O [ ipython3.exe



R #DOPythonOJ5 A

File Edit View Navigate Code Refactor Run Tools VCS Window Help

wangzk hello.py L~ helo v P & Q >
b Project + DI = B — bitwise.py masking.py draw.py hello.py
o'

£ v wangzk { print("Hello World!") oy
— bitwise.py

color_histogram.py
contours.py
contours2.py
draw.py
face_detect.py
family.JPG
family_resized jpg
gradients.py
greyimage.py

<5 haar_face.xml

hello.py
histogram.py
imagel.png
image1_rescaled.jpg
Run: hello o —
> "C:\Program Files\Python39\python.exe" C:/Users/steve/PycharmProjects/wangzk/hello.py
Hello World!
s 5
=
E —
7 “®  Process finished with exit code ©
am :*
=
g &
= -
5w
[=2]
[
P Version Control P Run = TODO © problems £ python Packages % Python Console & Terminal @) Event Log

M1 DED 2-\W242 rne nonline ot and —f Ela 4-99 rRIE 1ITE.® A craroc Duvihen 20
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print('Hello World!"')

print(100)

print([O0, 1, 2])

print({'a': 0, 'b': 1

»

printBIL

N, BE, VAN, BELERL

Hello World!

100
[0, 1, 2]
{IEII' E', 'h!




orintBI% — MITHELTHA (B[Bend)

print('abc")
print('xyz"')

print('abc’,
print('xyz")

print('abc’,
print('xyz")

end="---"

end="")

=

abc

XyZ
abc---Xyz
abcxyz




printB# — 8O ZEHE=H N (5|#sep)

1 = 100

print('apple', i,

print('apple', i,

print('apple', i,

0.123)

0.125, sep='---'

0.123, sep='\n')

=

apple 100 0.123
apple---100---0.123
apple

100

0.123
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o XFEFIAYYIformat()
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printBa% — \—-1 Y FeZ{ES A2

s = 'Tanaka'
i = 25

print('Tanaka is %d years old.' % i)

print('%s is %d years old.' % (s, 1))

¥

Tanaka 1s 25 years old.
Tanaka 1s 25 years old.




printBd % — SXFFIAY Y Fformat()Z2ES 2

print('Tanaka is {} years old.'.format(i))
print('{} is {} years old.'.format(s, 1))

print('{0} is {1} years old. {0},{0},{0}'.format(s, 1i))
print('{name} is {age} years old.'.format(name=s, age=i))

-

Tanaka 1s 25 years old.
Tanaka 1s 25 years old.
Tanaka 1s 25 years old. Tanaka, Tanaka, Tanaka

Tanaka 1s 25 years old.




printB& — XX F5] (TAx-VvFXF5)

print(f'{s} is {i} years old.')
s = 'abc’

print(f'right : {s:_>8}")
print(f'center : {s:_"9}')
print(f'left : {s:_<8}"')

s = 1234

print(f'zero padding : {s:08}')

»

Tanaka 1s 25 years old.

right : _____ abc
center : ___abc___
Left : abc

zero padding : 00001234
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MAPESE (+, %/, //, %)

print(f'5 + 7.485 = {5 + 7.485}')
print(f'8.21 * 3.5 = {8.21 * 3.5}')
print(f'18 / 2.4 = {18 / 2.4}")
print(f'15 // 2 = {15 // 2}')
print(f'15.78 // 2.4 = {15.78 // 2.4}")
print(f'15 % 2 = {15 % 2}')

print(f'15.78 % 2.4 = {15.78 % 2.4}"')

)

5 + 7.485 = 12.485
8.21 * 3.5 = 28.735000000000003
18 / 2.4 = 7.5

15 // 2 = 7

15.78 // 2.4 = 6.0

15 % 2 = 1

15.78 % 2.4 = 1.38

HmETD // FIEOBRMELEIZESLES, AHFEIEDEREKDA M
[hdonzxd, FlRIESEOFERN 7.56 THNIE 7. -4.785 THNIL -5 ¢

BYEd,




MAEE (**, B5%IERL OTCOEIVE)

print(f'10 ** 3 = {10 *%x 3}')

print(f'2 ** 0.5 = {2 ** 0.5}')

print(f'10 ** -2 = {10 *%* -2}')

sl =100 / 10 **x 2 + 2 ¥ 3 - 5

s2 = 100 / (10 *x 2) + (2 * 3) -5

print(f'100 / 10 ** 2 + 2 *x 3 - 5 = {sl1}')
print(f'100 / (10 ** 2) + (2 * 3) - 5 = {s2}')
print(f'10 / 8 = {18 / 0}")

print(f'10 / ® = {10 / O}’

)

ZeroDivisionError: division by zero

10 %% 3 = 1000
2 %% 0.5 1.4142135623730951
10 *#% -2 = 0.01

100 / 10 %% 2 + 2 ¥ 3 - 5 = 2.0

100 / (10 %% 2) + (2 * 3) - 5

2.

0]




a_list = [0, 1, 2]

N iy

3 .

IE”IJ,EE_ b_list = [10, 20, 30]
a_tuple = (B, 1, 2)
b_tuple = (10, 20, 30)

YR, 57, XFFIDERE |2-5th = abe]
(ﬁiﬁﬁ) b_str = '"xyz'

print(f'a_list + b_list = {a_list + b_list}')
print(f'a_tuple + b_tuple = {a_tuple + b_tuple}')
print(f'a_str + b_str = {a_str + b_str}')

8-

a_list + b_list = [0, 1, 2, 10, 20, 30]
a_tuple + b_tuple = (0, 1, 2, 10, 20, 30)
a_str + b_str = abcxyz




VAL FT, XFFIDER ($RYIEL)

orint(f'b_list * 3 = {b_1list * 3}')

orint(f'b_tuple * 3 = {b_tuple * 3}')

orint(f'b_str * 3 = {b_str x 3}')

orint(f'a_list + b_list * 3 = {a_list + b_ldist * 3}')

-

b_list * 3 = [10, 20, 30, 10, 20, 30, 10, 20, 30]

b_tuple * 3 = (10, 20, 30, 10, 20, 30, 10, 20, 30)

b_str * 3 = Xyzxyzxyz

a_list + b_list * 3 = [®, 1, 2, 10, 20, 30, 10, 20, 30, 10, 20, 30]
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int B num = 6
float F BN/ N num = 3.14
str X7 str = ‘abc’
bool 7= flg = True, flg = False
datetime =EN] date = datetime.datetime(2020, 1, 31, 12, 36, 45)
list iyl list = ['abc’, 6, True]
tuple 5T tuple = (‘abc’, 6, True)

dictionary HE dict = {Key1" 'Val1’, 'Key2': 'Val2'}
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1234
"abc'
5.14159

[1, 2, 3, 4]
(1, 2, 3, 4)

{'keyl': 1,

print(f'{a}
print(f'{b}
print(f'{c}
print(f'{d}
print(f'{e}
print(f'{g}

1s
1s
is
1s
1s
1s

'key2': 2}

type
type
type
type
type
type

{type(a)}')
{type(b)}")
{type(c)}')
{type(d)}")
{type(e)}")
{type(g)}')

1234 is type <class 'int'>

abc 1s type <class 'str'>

3.14159 1s type <class 'float'>

[1, 2, 3, 4] is type <class 'list'>

(1, 2, 3, 4) is type <class 'tuple'>

{'keyl': 1, 'key2': 2} is type <class 'dict'>
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1

h = str(a)
print(f'{h} is type
i = str(c)
print(f'{i} is type
j = int('456")
print(f'{j} is type
k = float('4.56")
print(f'{k} is type

{type(h)}")

{type(i)}")

{type(3)}")

{type(k)}")

1234 1s type <class

'str'>

3.14159 1i1s type <class 'str's

456 1s type <class
4.56 1s type <class

‘int'>

'float'>
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1

"ABC’

[1, 2, 3]

{'apple': 200, 'orange': 100, 'banana': 150}

5

EEEMAA

o O o
I

print(a)
print(b)
print(c)
print(d)

1

ABC

[1, 2, 3]

{'apple': 200, 'orange': 100, 'banana': 150}
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a =1
print(a) .
a = 'aaa’

| aaa
print(a)

aaa

b = a
print(b)
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x.f ‘fr E =

a, b, c =

r r

rint(f'x
rint(f'a
wrint(f'y
rint(f'b
rint(f'z

rint(f'c

1, 2, 3

x.f ‘r‘.f E

= {x}"')
= {a}')
= {y}")
= {b}")
= {z}')
= {c}")
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AXY R AIXVETIRDEEH 1

174V IARXRY b

weight = 82 # your weight

height = 1.76 # your height

BMI = weight/height/height # your BMI
print(f'Your BMI is {BMI}') # print out




AAY R, AXIRTIRDESTSH 2
JOyIaXY b

<o

weight = 82 # your weilght

.1'_1-.

height = 1.76 # your height

# BMI = weight/height/height # your BMI
print(f'Your BMI 1is {BMI}') # print out

I

PyCharm TODITAIAY FDY3YRAYE © ctrl + /
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weight = 82 # your weight
height = 1.76 # your height

BMI = welght/helght/height # your BMI
print(f'Your BMI is {BMI}') # print out




vall = input('Enter a string: ')
# W I\“h\ ~ A print(f'The string is {vali}')
I\ b jj print(type(vall))

val2 = input('Enter a nubmer: ')
print(f'The number is {val2}')
print(type(val2))

print(val2 + 3)

Enter a string: abc
The string is abc
<class 'str'>

Enter a nubmer: 123
The number 1s 123
<class 'str'>
Traceback (most recent call last):
File "C:\Users\steve\PycharmProjects\wangzk\input_function.py", line 9, in <module>
print(val2 + 3)
TypeError: can only concatenate str (not "int") to str
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